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Given a triangle ABC, with BC = g, AB = ¢, AC = b, show that
; a _ b _ ¢
' sin A sin B sin C

i at =b% + ¢* - 2bc cos 4

1ii. Area A ABC = bc sin A

B |

Given a right triangle ABC with right angle at the vertex B, and with
BC =a, AB =¢, AC = b,show that

bz — 02 £ g2
Given that forany x, y € R

cos [x + y) = cos x cos y - sin x sin p
prove the following identities:

i sin {x + y) = sin x cos y + cos x sin y
ii. cos2x =2cos’x -1 =1 - 2sin?x
iti. sin 3x = 3 sin x - 4 sin® x
v, cos 3x = 4cos® x - 3cos x

v. sinx+cosx=\/§sin(%+x]=ﬁcos(%~x]
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4. Draw graphs of the following functions for -21m < x < 2%
a y = sin x
b y = COS X
c y = tan x
d ¥y = secx
e y = cscx
f. y = cot x

5. A triangle ABC has sides of length a, b, and c. If the perimeter of this triangle is denoted
by 2s, show that the area of the triangle is given by

Area A ABC = s(s - a)is - B)(s - ¢)




